

## MP SKLADIŠTE

ARTIKL	SEGMENT	PP	PP_NAZIV	BALA	LOKACIJA	NAZ_ART	SIRINA	JMJ	KOLICINA	PRODAJNA CIJENA	PRODAJNA VRIJEDNOST
M16770	97	50190	CERVOTESSILE S.P.A.	120101	90126	PALMA STRETCH - ANTISTATIK OBRADA	136	M	22,75	2,29	52,08
M16780	402			140101	90158	PODSTAVA art.20121451	140	M	106	0,07	7,75
M16702	130411	52590	JESSGROVE CENTRAL EUROPE S.R.O.	210101	90202	V 936	139	M	3,3	1,40	4,62
M16857	219	50190	CERVOTESSILE S.P.A.	120101	90208	LOTO	149	M	1,7	0,37	0,62
M16817	17	50190	CERVOTESSILE S.P.A.	120101	90217	ROSE D.1401	148	M	24,7	3,54	87,53
M16799	101	50190	CERVOTESSILE S.P.A.	130201	90220	RAMSES D.1	149	M	0,5	2,69	1,34
M16780	402			140501	90221	PODSTAVA art.20121451	140	M	2,3	0,07	0,17
M16817	17	50190	CERVOTESSILE S.P.A.	120401	90223	ROSE D.1401	148	M	66	4,41	291,06
M16885	VAR.1	53339	EZIO GHIRINGHELLI S.P.A.	110101	90255	MERCURY ST. INK JET DIS. R80 F. DO 559	142	M	3,3	5,31	17,52
M16774	BLACK	53171	GI.TESSIL FODERAMI SRL	110101	90264	ŠTEPANO SAGLIA ROMA STRETCH QUILTED	130	M	26,7	5,15	137,42
M16776	612	3984	STEPPING D.O.O.	110101	90307	ŠTEPANO RAVNO 5cm/100gr JEDNOSTRANO	132	M	5,5	3,04	16,71
M16877	GS466	53339	EZIO GHIRINGHELLI S.P.A.	110101	90313	C9136 JQ. GOLDENSTAR STRETCH DIS. ZV13531	137	M	6,9	2,77	19,10
M16883	CS632	53339	EZIO GHIRINGHELLI S.P.A.	120101	90313	SAGLIA SUPERSTAR STRETCH STAMP.DIS.32361	136	M	5	2,40	12,01
M16884	VAR.1	53339	EZIO GHIRINGHELLI S.P.A.	110101	90313	MERCURY ST.INK JET DIS.28896 F. DO 559	139	M	1,7	7,55	12,83
M16770	97	50190	CERVOTESSILE S.P.A.	120201	90328	PALMA STRETCH - ANTISTATIK OBRADA	136	M	32,92	2,29	75,37
M16727	111	50190	CERVOTESSILE S.P.A.	130101	90331	PORTOFINO SANFOR (džepovina)	137	M	1	2,10	2,10
M16915	30	50190	CERVOTESSILE S.P.A.	110101	90331	20148812 (SAGLIA EDELWEISS SPECIAL)	136	M	8,3	0,07	0,61
M16684	10			130101	90335	20119244-POPREČNI ŠTRAF	141	M	39,2	0,07	2,87
M16825	5897			110101	90346	4695 JACQUARD SMALL POINT	139	M	17,7	0,07	1,29
M16915	30	50190	CERVOTESSILE S.P.A.	110401	90346	20148812 (SAGLIA EDELWEISS SPECIAL)	136	M	27	0,07	1,97
M16915	30	50190	CERVOTESSILE S.P.A.	110301	90360	20148812 (SAGLIA EDELWEISS SPECIAL)	136	M	17,5	0,07	1,28
M16809	A999	53339	EZIO GHIRINGHELLI S.P.A.	130101	90408	C3938 DIS.X0756 VAR.4 JACQUARD	145	M	12,5	2,58	32,27
M16322	1	51915	JESSGROVE GMBH	120101	90417	A 301	138	M	35	0,75	26,38
M16770	97	50190	CERVOTESSILE S.P.A.	120301	90432	PALMA STRETCH - ANTISTATIK OBRADA	136	M	5,75	2,30	13,23
M16893	8/111	53339	EZIO GHIRINGHELLI S.P.A.	110201	90432	WONDERSTAR STRETCH C4612 SAGLIA	135	M	32,2	2,69	86,76
M16934	410	53339	EZIO GHIRINGHELLI S.P.A.	110201	90442	20144357	142	M	7,3	0,07	0,53
M16875	GS466	53339	EZIO GHIRINGHELLI S.P.A.	110101	90453	C9135 JQ. GOLDENSTAR STRETCH DIS. ZP3480	137	M	7,8	2,91	22,73
M16882	770EC	53339	EZIO GHIRINGHELLI S.P.A.	110101	90453	C9276 FSC TELA ECOSWING WASHED-PL	139	M	5	1,79	8,94
M66097	913	50190	CERVOTESSILE S.P.A.	130101	90455	MAGLINA NYLON	150	M	5	0,56	2,78
M66097	BLACK/KOM	50190	CERVOTESSILE S.P.A.	160101	90457	MAGLINA NYLON	150	M	14,38	0,56	8,01
M16817	17	50190	CERVOTESSILE S.P.A.	130101	90503	ROSE D.1401	144	M	31,8	4,40	140,06
M16805	559	53339	EZIO GHIRINGHELLI S.P.A.	130101	90507	C6133N DIS.XP1769 VAR.N20 JACQUARD	140	M	53	3,85	204,22
M16852	777	53401	TMR CEDERNA FODERE SPA	190101	90515	SAGLIA IRIS 3/1-1-1	140	M	7	2,39	16,70
M66108	525	50190	CERVOTESSILE S.P.A.	250101	90518	TWILL BRENTA REATTIVO	150	M	16,9	1,40	23,67
M66097	BLACK/KOM	50190	CERVOTESSILE S.P.A.	180101	90520	MAGLINA NYLON	150	M	9,5	0,56	5,29
M16877	GS466	53339	EZIO GHIRINGHELLI S.P.A.	120101	90528	C9136 JQ. GOLDENSTAR STRETCH DIS. ZV13531	138	M	11,1	2,93	32,47
M16763	1	50190	CERVOTESSILE S.P.A.	110101	90535	ORIGANO INK-JET D.2342	135	M	27	7,70	207,77
M16780	402			140401	90560	PODSTAVA art.20121451	140	M	117	0,07	8,56
M16875	GS466	53339	EZIO GHIRINGHELLI S.P.A.	120201	90561	C9135 JQ. GOLDENSTAR STRETCH DIS. ZP3480	138	M	5	2,77	13,84
M16915	30	50190	CERVOTESSILE S.P.A.	110601	90602	20148812 (SAGLIA EDELWEISS SPECIAL)	138	M	14	0,07	1,02
M16876	2512	53339	EZIO GHIRINGHELLI S.P.A.	150201	90604	C9132 JQ. POWERSTRETCH DIS. ZP 3474	137	M	6	2,68	16,10
M16780	402			140301	90612	PODSTAVA art.20121451	140	M	1,9	0,08	0,15
M16322	1	51915	JESSGROVE GMBH	120201	90617	A 301	138	M	20	0,75	15,08
M16780	402			140201	90638	PODSTAVA art.20121451	140	M	23,3	0,07	1,70
M16858	999	53401	TMR CEDERNA FODERE SPA	110101	90638	SAGLIA POLY STRETCH 135	135	M	5,7	2,81	16,00

M16728	30	52043	TESSITURA MARCO PASTORELLI S.P.A.	141101	90655	FORLI'-BARRE' DBL057	137	M	29,15	1,87	54,60
M16876	EL_67	53339	EZIO GHIRINGHELLI S.P.A.	110101	90659	C9132 JQ. POWERSTRETCH DIS. ZP 3474	137	M	4,6	2,69	12,39
M16879	VAR.N41	53339	EZIO GHIRINGHELLI S.P.A.	110101	90659	C5214 JQ.FOSTER DIS. XP0576	142	M	1,4	2,45	3,43
M16882	503EC	53339	EZIO GHIRINGHELLI S.P.A.	120101	90659	C9276 FSC TELA ECOSWING WASHED-PL	139	M	5	1,79	8,94
M16883	CS302	53339	EZIO GHIRINGHELLI S.P.A.	110101	90659	SAGLIA SUPERSTAR STRETCH STAMP.DIS.32361	136	M	2,8	2,41	6,74
M16894	2 IVORY	52590	JESSGROVE CENTRAL EUROPE S.R.O.	120101	90701	P740	142	M	1,15	0,07	0,08
M16717	M40	50190	CERVOTESSILE S.P.A.	210101	90709	SONDRIO MELANGE	149	M	23,7	1,24	29,46
M16817	17	50190	CERVOTESSILE S.P.A.	130301	90711	ROSE D.1401	146	M	46,1	4,41	203,30
M16833	1118	52590	JESSGROVE CENTRAL EUROPE S.R.O.	110301	90711	V1001	139	M	8	1,42	11,39
M16815	559	53339	EZIO GHIRINGHELLI S.P.A.	220101	90716	FERMI C5489 RIGA VAR.2 OPERATO	143	M	0,7	1,54	1,08
M16852	777	53401	TMR CEDERNA FODERE SPA	120101	90720	SAGLIA IRIS 3/1-1-1	137	M	1,7	2,50	4,26
M16463	V124	51662	VEZE SRL	260101	90722	V FOD 012	138	M	33	0,07	2,41
M66097	913	50190	CERVOTESSILE S.P.A.	170101	90726	MAGLINA NYLON	136	M	8,2	0,56	4,57
M16717	M40	50190	CERVOTESSILE S.P.A.	220101	90739	SONDRIO MELANGE	149	M	1,05	1,25	1,31
M16825	9812			120101	90748	4695 JACQUARD SMALL POINT	138	M	44,6	0,07	3,26
M16798	103	50190	CERVOTESSILE S.P.A.	120201	90754	PERSEO D.1	143	M	2,1	1,88	3,95
M16915	30	50190	CERVOTESSILE S.P.A.	110201	90756	20148812 (SAGLIA EDELWEISS SPECIAL)	136	M	8,2	0,07	0,60
M16875	GS466	53339	EZIO GHIRINGHELLI S.P.A.	120301	90761	C9135 JQ. GOLDENSTAR STRETCH DIS. ZP3480	138	M	16,5	2,99	49,38
M16817	17	50190	CERVOTESSILE S.P.A.	130501	90767	ROSE D.1401	146	M	91,3	4,41	402,63
M16868	1	52590	JESSGROVE CENTRAL EUROPE S.R.O.	110101	90832	B850	142	M	10	1,41	14,06
M16869	3702	52590	JESSGROVE CENTRAL EUROPE S.R.O.	110101	90832	VA473	141	M	3,45	2,00	6,91
M16870	3607	52590	JESSGROVE CENTRAL EUROPE S.R.O.	110101	90832	VA6065	139	M	10,55	2,00	21,13
M16871	130239	52590	JESSGROVE CENTRAL EUROPE S.R.O.	110101	90834	VE710	138	M	10	1,49	14,85
M16872	1824	52590	JESSGROVE CENTRAL EUROPE S.R.O.	120101	90834	V2120	143	M	8,7	1,37	11,89
M16872	2233	52590	JESSGROVE CENTRAL EUROPE S.R.O.	110101	90836	V2120	146	M	2	1,37	2,73
M16873	NAVY/D.BLU	52590	JESSGROVE CENTRAL EUROPE S.R.O.	110101	90836	VA888	140	M	3,1	2,45	7,59
M66108	59	50190	CERVOTESSILE S.P.A.	260101	90836	TWILL BRENTA REATTIVO	149	M	3	0,07	0,22
M16728	30	52043	TESSITURA MARCO PASTORELLI S.P.A.	140401	90846	FORLI'-BARRE' DBL057	137	M	4	1,87	7,49
M16934	410	53339	EZIO GHIRINGHELLI S.P.A.	110101	90851	20144357	142	M	4,9	0,07	0,36
M16915	30	50190	CERVOTESSILE S.P.A.	110501	90853	20148812 (SAGLIA EDELWEISS SPECIAL)	136	M	1,8	0,08	0,14
M16770	98	50190	CERVOTESSILE S.P.A.	150501	90857	PALMA STRETCH - ANTISTATIK OBRADA	135	M	33,6	2,29	76,92
M16728	30	52043	TESSITURA MARCO PASTORELLI S.P.A.	140501	90924	FORLI'-BARRE' DBL057	137	M	2	1,87	3,75
M16817	17	50190	CERVOTESSILE S.P.A.	130401	90950	ROSE D.1401	146	M	70,5	4,41	310,91
M16728	30	52043	TESSITURA MARCO PASTORELLI S.P.A.	140301	90958	FORLI'-BARRE' DBL057	135	M	1,8	1,87	3,37
M16924	2806	53171	GI.TESSIL FODERAMI SRL	110201	110101	BARRE' V/V - POPREČNI ŠTRAF	140	M	1,9	0,07	0,14
M16876	EL_67	53339	EZIO GHIRINGHELLI S.P.A.	140301	110113	C9132 JQ. POWERSTRETCH DIS. ZP 3474	138	M	35,1	2,71	94,97
M16876	2512	53339	EZIO GHIRINGHELLI S.P.A.	130101	110116	C9132 JQ. POWERSTRETCH DIS. ZP 3474	137	M	42	2,71	113,64
M16852	777	53401	TMR CEDERNA FODERE SPA	180201	110117	SAGLIA IRIS 3/1-1-1	137	M	100	2,50	249,75

M16876	2512	53339	EZIO GHIRINGHELLI S.P.A.	130201	110212	C9132 JQ. POWERSTRETCH DIS. ZP 3474	137	M		12,7	2,70	34,29
M16799	101	50190	CERVOTESSILE S.P.A.	170101	110218	RAMSES D.1	149	M		88,8	2,09	185,31
M16742	867	52043	TESSITURA MARCO PASTORELLI S.P.A.	150201	110234	SAGLIA SAYONARA	138	M		86	0,07	6,29
M16840	AH92H	53339	EZIO GHIRINGHELLI S.P.A.	110101	110243	C8869 SAGLIA 3/1 BIO COTTON WASHED	143	M		7,45	2,53	18,86
M16842	W803	53339	EZIO GHIRINGHELLI S.P.A.	110101	110243	C8834 JACQ.COMET EUCALIPTO XP3262	145	M		0,55	3,41	1,88
M16842	W804	53339	EZIO GHIRINGHELLI S.P.A.	120101	110243	C8834 JACQ.COMET EUCALIPTO XP3262	143	M		8,3	3,41	28,34
M16876	EL 67	53339	EZIO GHIRINGHELLI S.P.A.	140101	110245	C9132 JQ. POWERSTRETCH DIS. ZP 3474	138	M		100,1	2,71	270,83
M16785	2	50190	CERVOTESSILE S.P.A.	120101	110255	CIRCE D.194	152	M		2,7	2,95	7,96
M16780	21			130101	110314	PODSTAVA art.20121451	139	M		83,5	0,07	6,11
M16810	A999	53339	EZIO GHIRINGHELLI S.P.A.	130101	110333	C3938 DIS.X0756 VAR.1 JACQUARD	144	M		19,8	2,67	52,90
M16918	102			110101	110333	20145636 (poprečni štraf)	145	M		3,2	0,07	0,23
M16798	106	50190	CERVOTESSILE S.P.A.	170301	110335	PERSEO D.1	147	M		7,7	1,88	14,47
M16852	777	53401	TMR CEDERNA FODERE SPA	180101	110335	SAGLIA IRIS 3/1-1-1	137	M		7,8	2,01	15,71
M16810	A999	53339	EZIO GHIRINGHELLI S.P.A.	130701	110337	C3938 DIS.X0756 VAR.1 JACQUARD	144	M		21,9	2,67	58,51
M16918	102			110601	110337	20145636 (poprečni štraf)	145	M		8	0,07	0,59
M16839	V239	53339	EZIO GHIRINGHELLI S.P.A.	110101	110352	C8868 TELO BIO COTTON WASHED	146	M		8,95	2,53	22,60
M16804	559	53339	EZIO GHIRINGHELLI S.P.A.	130101	110413	C6133N DIS.XP1769 VAR.N46 JACQUARD	141	M		8,9	3,50	31,14
M16798	103	50190	CERVOTESSILE S.P.A.	110101	110416	PERSEO D.1	143	M		2,2	1,88	4,15
M16924	2806	53171	GI.TESSIL FODERAMI SRL	110101	110424	BARRE' V/V - POPREČNI ŠTRAF	144	M		2,3	0,07	0,17
M16918	102			110201	110427	20145636 (poprečni štraf)	145	M		4,5	0,07	0,33
M16918	102			110501	110433	20145636 (poprečni štraf)	145	M		7	0,07	0,51
M16730	A10	50190	CERVOTESSILE S.P.A.	170101	110441	BROOKLYN D.1140	150	M		6,9	1,28	8,81
M16758	9142			110101	110446	PODSTAVA 620050	138	M		29,5	0,07	2,16
M16759	1065			110101	110446	PODSTAVA 74004	139	M		30	0,07	2,19
M16760	2501			110101	110446	PODSTAVA 75027	136	M		5,7	0,07	0,42
M16842	W803	53339	EZIO GHIRINGHELLI S.P.A.	150401	110448	C8834 JACQ.COMET EUCALIPTO XP3262	144	M		11,8	3,41	40,29
M16918	104			120201	110512	20145636 (poprečni štraf)	144	M		2	0,08	0,16
M16857	219	50190	CERVOTESSILE S.P.A.	130101	110515	LOTO	149	M		12	0,36	4,32
M16786	B05	50190	CERVOTESSILE S.P.A.	120101	110517	COMO D.1301	148	M		4	1,82	7,27
M16918	104			120601	110528	20145636 (poprečni štraf)	146	M		7,7	0,07	0,56
M16918	102			110801	110601	20145636 (poprečni štraf)	145	M		2,3	0,07	0,17
M16864	29	52043	TESSITURA MARCO PASTORELLI S.P.A.	110101	110607	FORLI'BARRE'-POPREČNI ŠTRAF	138	M		1,2	1,87	2,25
M16918	104			120101	110620	20145636 (poprečni štraf)	144	M		2	0,08	0,16
M16876	EL 67	53339	EZIO GHIRINGHELLI S.P.A.	140201	110627	C9132 JQ. POWERSTRETCH DIS. ZP 3474	138	M		100	2,71	270,56
M16918	102			110701	110633	20145636 (poprečni štraf)	145	M		4	0,07	0,29
M16815	559	53339	EZIO GHIRINGHELLI S.P.A.	200201	110729	FERMI C5489 RIGA VAR.2 OPERATO	144	M		0,8	1,54	1,23
M16914	1	52596	BRUNELLO S.P.A.	120201	120113	20129030 (poprečni štraf) NIJE MOGUĆE KNIŽITI VD IZ	147	M		23	0,07	1,68
M16819	7	50190	CERVOTESSILE S.P.A.	110701	120118	ATREIUS D.2649	140	M		10,3	3,28	33,78
M16787	612	53171	GI.TESSIL FODERAMI SRL	121301	120137	RASO ORCHIDEA STRETCH	129	M		17,1	2,33	39,82
M16819	7	50190	CERVOTESSILE S.P.A.	111001	120146	ATREIUS D.2649	140	M		1,55	3,29	5,09
M16846	VAR.1	53339	EZIO GHIRINGHELLI S.P.A.	140601	120148	MERCURY ST.JNK JET DIS.R44 F.DO 559	136	M		10,5	5,03	52,86
M16873	NAVY/D.BLU	52590	JESSGROVE CENTRAL EUROPE S.R.O.	120401	120150	VA888	141	M		2,4	2,45	5,87
M16799	101	50190	CERVOTESSILE S.P.A.	121001	120244	RAMSES D.1	147	M		0,9	2,67	2,40
M16799	101	50190	CERVOTESSILE S.P.A.	120301	120253	RAMSES D.1	147	M		1,1	2,67	2,94
M16806	A515	53339	EZIO GHIRINGHELLI S.P.A.	140201	120306	SAN MARCO RIGA VAR.4	142	M		18,3	1,48	27,07
M16819	7	50190	CERVOTESSILE S.P.A.	110501	120309	ATREIUS D.2649	140	M		69,1	3,28	226,60

M16914	1	52596	BRUNELLO S.P.A.	120301	120316	20129030 (poprečni štraf) NIJE MOGUĆE KNJIŽITI VD IZ	147	M		32,8	0,07	2,40
M16915	401	50190	CERVOTESSILE S.P.A.	120201	120316	20148812 (SAGLIA EDELWEISS SPECIAL)	137	M		14,5	0,07	1,06
M16787	612	53171	GI.TESSIL FODERAMI SRL	110101	120326	RASO ORCHIDEA STRETCH	128	M		1,95	2,33	4,54
M16781	3	50190	CERVOTESSILE S.P.A.	110101	120331	ROSE D.2411	144	M		1,8	3,62	6,52
M16784	2	50190	CERVOTESSILE S.P.A.	110101	120331	CIRCE D.193	150	M		11,2	2,30	25,70
M16717	M41	50190	CERVOTESSILE S.P.A.	170201	120333	SONDRIO MELANGE	150	M		16	1,24	19,89
M16782	7	50190	CERVOTESSILE S.P.A.	110101	120335	PARIDE D.51	140	M		0,5	1,96	0,98
M16785	2	50190	CERVOTESSILE S.P.A.	110101	120335	CIRCE D.194	150	M		5,3	2,95	15,62
M16852	777	53401	TMR CEDERNA FODERE SPA	170301	120339	SAGLIA IRIS 3/1-1-1	136	M		47,1	2,37	111,54
M16798	103	50190	CERVOTESSILE S.P.A.	140101	120361	PERSEO D.1	147	M		2,9	1,88	5,45
M16818	3	50190	CERVOTESSILE S.P.A.	120201	120373	ROSE D.2410	147	M		8,2	2,95	24,22
M16914	401	52596	BRUNELLO S.P.A.	110201	120416	20129030 (poprečni štraf) NIJE MOGUĆE KNJIŽITI VD IZ	145	M		23,8	0,07	1,74
M16852	777	53401	TMR CEDERNA FODERE SPA	170101	120420	SAGLIA IRIS 3/1-1-1	136	M		37,6	2,01	75,72
M16797	V.F	50190	CERVOTESSILE S.P.A.	110101	120431	FUJIAMA SANFOR D.3	140	M		7,2	2,40	17,29
M16797	V.T	50190	CERVOTESSILE S.P.A.	120101	120431	FUJIAMA SANFOR D.3	140	M		2,4	2,40	5,76
M16799	101	50190	CERVOTESSILE S.P.A.	110101	120431	RAMSES D.1	148	M		1,4	2,42	3,39
M16876	EL_67	53339	EZIO GHIRINGHELLI S.P.A.	120101	120445	C9132 JQ. POWERSTRET DIS. ZP 3474	139	M		26,3	2,70	71,01
M16773	597	50190	CERVOTESSILE S.P.A.	110101	120471	SAGLIA FELCE	138	M		12,9	1,31	16,83
M16914	1	52596	BRUNELLO S.P.A.	120401	120502	20129030 (poprečni štraf) NIJE MOGUĆE KNJIŽITI VD IZ	147	M		22	0,07	1,61
M16914	1	52596	BRUNELLO S.P.A.	120101	120508	20129030 (poprečni štraf) NIJE MOGUĆE KNJIŽITI VD IZ	147	M		12	0,07	0,88
M16787	612	53171	GI.TESSIL FODERAMI SRL	120501	120529	RASO ORCHIDEA STRETCH	129	M		18	2,33	41,92
M16876	2512	53339	EZIO GHIRINGHELLI S.P.A.	150301	120542	C9132 JQ. POWERSTRET DIS. ZP 3474	137	M		44,7	2,71	120,94
M16818	3	50190	CERVOTESSILE S.P.A.	121201	120566	ROSE D.2410	147	M		3,9	2,95	11,52
M16818	3	50190	CERVOTESSILE S.P.A.	121301	120568	ROSE D.2410	147	M		3,1	2,95	9,15
M16770	98	50190	CERVOTESSILE S.P.A.	130201	120570	PALMA STRETCH - ANTISTATIK OBRADA	137	M		12,55	2,29	28,73
M16717	M13	50190	CERVOTESSILE S.P.A.	230101	120603	SONDRIO MELANGE	148	M		32,07	1,70	54,48
M16717	M41	50190	CERVOTESSILE S.P.A.	240101	120607	SONDRIO MELANGE	150	M		55,1	1,96	107,86
M16896	1002	52590	JESSGROVE CENTRAL EUROPE S.R.O.	110101	120609	XQ229/P740 des 40772.1 LEOPARD	141	M		6,7	3,67	24,57
M16915	401	50190	CERVOTESSILE S.P.A.	120101	120609	20148812 (SAGLIA EDELWEISS SPECIAL)	138	M		33	0,07	2,41
M16830	10	50190	CERVOTESSILE S.P.A.	120101	120620	PALAIS D.1	145	M		78,2	1,90	148,24
M16846	VAR.1	53339	EZIO GHIRINGHELLI S.P.A.	140701	120641	MERCURY ST.JNK JET DIS.R44 F.DO 559	136	M		3,3	5,03	16,61
M16799	101	50190	CERVOTESSILE S.P.A.	150101	120654	RAMSES D.1	149	M		4	2,09	8,35
M16846	VAR.1	53339	EZIO GHIRINGHELLI S.P.A.	140901	120724	MERCURY ST.JNK JET DIS.R44 F.DO 559	136	M		0,8	5,04	4,03
M16873	NAVY/D.BLU	52590	JESSGROVE CENTRAL EUROPE S.R.O.	120501	120768	VA888	141	M		20	2,45	48,94
M16817	17	50190	CERVOTESSILE S.P.A.	110601	120801	ROSE D.1401	148	M		1,2	4,29	5,14
M16818	3	50190	CERVOTESSILE S.P.A.	121401	120809	ROSE D.2410	147	M		1	2,96	2,96
M16818	3	50190	CERVOTESSILE S.P.A.	121601	120811	ROSE D.2410	147	M		5,4	2,95	15,95
M16787	612	53171	GI.TESSIL FODERAMI SRL	120301	120813	RASO ORCHIDEA STRETCH	129	M		19	2,33	44,25
M16914	401	52596	BRUNELLO S.P.A.	110101	120815	20129030 (poprečni štraf) NIJE MOGUĆE KNJIŽITI VD IZ	147	M		45	0,07	3,29
M16817	17	50190	CERVOTESSILE S.P.A.	110501	120818	ROSE D.1401	148	M		4,7	3,86	18,16
M16876	EL_67	53339	EZIO GHIRINGHELLI S.P.A.	120201	120850	C9132 JQ. POWERSTRET DIS. ZP 3474	139	M		13	2,69	35,03
M16873	NAVY/D.BLU	52590	JESSGROVE CENTRAL EUROPE S.R.O.	120201	120865	VA888	141	M		25	2,45	61,17
M06217	79	50100	KUFNER TEXTILWERKE GMBH	0	ST10	R 811(B)/813(C) N 29 -90- LJELJIVO	90	M		141,24	0,07	10,33

M16679	070/PROTO1	11463	TRIKOTAŽA ŠPREM	260101	ST10	RENDER MORH	90	M	2,4	0,07	0,18
M16762	77	53108	KUFNER GMBH	0	ST10	J737 I71 160 - PLASTIKA	160	M	180,5	1,52	274,13
M16831	79	53058	FREUNDEBERG INTERLINING SE&CO	0	ST10	LJEPLJIVA VATA HH 8056 10(B) 900(1500) L50	90	M	86,9	1,52	131,98
M16855	T.PLAVA	11463	TRIKOTAŽA ŠPREM	110101	ST10	RENDER CONTESSA 30/2	50	M	4,79	1,16	5,55
M16890	1699/BLACK	11463	TRIKOTAŽA ŠPREM	110101	ST10	RENDER CONTESSA 32-2-1 PUNJI	90	M	16,1	5,18	83,32
M16897	CRNA	11463	TRIKOTAŽA ŠPREM	110101	ST10	RENDER POLIAMID ELASTIN 4-elas.	104	M	20,7	8,38	173,38
M16898	T.PLAVA	11463	TRIKOTAŽA ŠPREM	0	ST10	RENDER TRAKA POLIAMID ELASTIN 10+10cm 4-elas.	100	KOM	16	2,13	34,11
M16898	T.PLAVA A	11463	TRIKOTAŽA ŠPREM	0	ST10	RENDER TRAKA POLIAMID ELASTIN 10+10cm 4-elas.	100	KOM	70	2,13	149,23
M16908	LAVA-MEL	11463	TRIKOTAŽA ŠPREM	110101	ST10	RENDER 2 NITI	113	M	6,1	11,33	69,14
M16908	ZINK MEL	11463	TRIKOTAŽA ŠPREM	120101	ST10	RENDER 2 NITI	113	M	4	11,33	45,34
M16943	1345/1069	11463	TRIKOTAŽA ŠPREM	0	ST10	RENDER PAULO-12cm (NIJE PEGLANO)	90	KOM	29	1,91	55,46
M16944	1345/1069	11463	TRIKOTAŽA ŠPREM	0	ST10	RENDER PAULO-12cm (PEGLANO)	160	KOM	8	2,26	18,09
M46130	79	51245	LAINIERE DE PICARDIE	0	ST10	8025	90	M	559,16	0,70	393,16
M66113	CRNA	11463	TRIKOTAŽA ŠPREM	0	ST10	RENDER H17	90	KOM	29	1,61	46,82
M96121	70	70500	CARL FREUDENBERG	0	ST10	AO 105 10(B) / 85(C) -90-RETEX	90	M	114,5	0,39	44,44
M96121	79	70500	CARL FREUDENBERG	0	ST10	AO 105 10(B) / 85(C) -90-RETEX	90	M	577,64	0,39	224,20
M16831	79	53058	FREUNDEBERG INTERLINING SE&CO	0	ST13	LJEPLJIVA VATA HH 8056 10(B) 900(1500) L50	150	M	52,2	1,52	79,28
M96114	79	70500	CARL FREUDENBERG	0	ST13	HO 163 10 80GR/M2	150	M	248,6	0,11	27,97
M16213	301	51027	BWF TEXTIL GMBH & CO. KG	3680101	ST14G	OFFITEX-OLS I +	90	M	7	0,07	0,51
M16213	304	51027	BWF TEXTIL GMBH & CO. KG	3540101	ST14G	OFFITEX-OLS I +	90	M	24	2,16	51,84
M16213	304	51027	BWF TEXTIL GMBH & CO. KG	3540301	ST14G	OFFITEX-OLS I +	90	M	20,5	2,16	44,28
M16213	304	51027	BWF TEXTIL GMBH & CO. KG	3540501	ST14G	OFFITEX-OLS I +	90	M	4,6	2,16	9,94
M16213	304	51027	BWF TEXTIL GMBH & CO. KG	3670101	ST14G	OFFITEX-OLS I +	90	M	15,7	0,07	1,15
M16213	304	51027	BWF TEXTIL GMBH & CO. KG	3540201	ST14G	OFFITEX-OLS I +	90	M	21	2,16	45,36
M16213	327	51027	BWF TEXTIL GMBH & CO. KG	3550101	ST14G	OFFITEX-OLS I +	90	M	14,1	2,16	30,46
M16213	327	51027	BWF TEXTIL GMBH & CO. KG	3550301	ST14G	OFFITEX-OLS I +	90	M	15,2	2,16	32,83
M16213	332	51027	BWF TEXTIL GMBH & CO. KG	3580101	ST14G	OFFITEX-OLS I +	90	M	23,6	2,16	50,98
M16213	332	51027	BWF TEXTIL GMBH & CO. KG	3580201	ST14G	OFFITEX-OLS I +	90	M	10,6	2,16	22,90
M16213	333	51027	BWF TEXTIL GMBH & CO. KG	3590101	ST14G	OFFITEX-OLS I +	90	M	11,6	2,16	25,06
M16741	313	51027	BWF TEXTIL GMBH & CO. KG	110601	ST14G	OFFITEX OL I	60	M	25	0,15	3,66
M16741	313	51027	BWF TEXTIL GMBH & CO. KG	110401	ST14G	OFFITEX OL I	60	M	25	0,07	1,83
M16741	313	51027	BWF TEXTIL GMBH & CO. KG	110201	ST14G	OFFITEX OL I	60	M	27,9	0,07	2,04
M16741	313	51027	BWF TEXTIL GMBH & CO. KG	110101	ST14G	OFFITEX OL I	60	M	27	0,07	1,97
M16744	371	51027	BWF TEXTIL GMBH & CO. KG	130301	ST14G	ROYAL PE 360g	180	M	10	6,91	69,13
M16744	371	51027	BWF TEXTIL GMBH & CO. KG	130201	ST14G	ROYAL PE 360g	180	M	9,7	6,91	67,06
M16744	371	51027	BWF TEXTIL GMBH & CO. KG	130101	ST14G	ROYAL PE 360g	180	M	1,6	6,91	11,06
M16925	321	53359	F.V.L.S.R.L.	110201	ST14G	MELTON PLAIN	100	M	16	4,56	72,99
M16219	79	70500	CARL FREUDENBERG	0	ST15	BO 506 10(B) 900 L100-RETEX	90	M	161,06	0,24	38,05
M16479	79	50100	KUFNER TEXTILWERKE GMBH	0	ST15	N 509(B) H34 V -90-LJEPLJIVO	112	M	1,8	0,57	1,03
M46125	70	93400	TEXTIL HEINZ ACKERL	0	ST15	NIF 60 H (6001 H) -90	90	M	21	1,89	39,69
M46125	79	93400	TEXTIL HEINZ ACKERL	0	ST15	NIF 60 H (6001 H) -90	90	M	144	1,88	271,35
UKUPNA VRIJEDNOST										8.882,33	